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Please check whether you have got the right question paper,
1. QuestionNo I iscompulsory ' 

.,1-,, ,..;t:..<Evslrvlr r\v I rD vuullrultjgry 
. ".1":2. Write any three questions out ofremaining,, .,,.,,, ^,1;, -3. Assume suitable data If required. ,n,' . I .,, i
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Activity Predecessor Optimistic
Estimates (days) a

Most Likely
Es.titr.I-afe$ (day$ b

Pessimistic

Estimates (days) c"

A None I z'' 4
B A 3 F-V,
C B 2 4}..:i=,'it, ., 

"i"' .5.'
D B 2 ''3"',: .,:'' '' ;6".

E B ir' I "f :1'

F C,D 2 6
G D,E 2,..:., '3,,1'

H F,G ;i{','.'- :.r'. .' -l .,_ , ' .t.-- .5'.
I G #.il'}'li:*."ii ' ;9lilr
J H,I 0i$}6;1,';,,' .';?, .i,, r,;l

;11 ;-',i*..]'-;i: ,li',1.- ;"',r. ..i 3

Paper / Subject Code: 88981 / Software Engineering with Project Managementr

Table 1.1: Activity Analysis for PERT
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Q.r.

paper / Subject Code: Sggg'Tzlrr- 
serng_ I cl,tofte batJl ijs,tt,n

Explain the NIST cloud model. 
. 

,.,

State the significance of hypervisors and explain type
hypervisors in detail.

Q.2.a)ExplaintheimplementationlevelsofvirfuaIizu,ioo.i.

b) Explain the SPI cloud service model, r..t '- .' -', , .,..:i-l.: ,.",,, -, ,t)i",., .
\

Q'3' a) Exprain the components and architecture of openstack

b) Explain Google file System in detail.

Q.4.a)DifferentiatebetweenAwSS3storageandGlacierStorage.

b) what are.lhe tvp., or'i: es orama2on:n"i1naprr- *e AWsrEc2instance Iife cycle.

'' a) compare AwS and.openstack with respect to type of, deproyment,services supported and their components.

b) 
:Xj::Xr*significance 

of network inrerface, securiry sroup and ACL for

Write Short l'_,tores on: (Any Four)

:.., . a. .,rCloud,Cube Model

b. Anything as a service

i: , ,, ''t;.:Bene,{t1,1n4 
elrflb1ses of mobile cloud computing

d. yirtualization Taxonomy 
--r

e. Cloud Storage Gateway
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trYorE: euestion 
To,r,,r.ornnu,ro,f,1lHPr, any rhree questions fromAssums suitable data if necerrury.

Draw neat labelled diagrams wherever needed.
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raper / Subject Code: gg9S4 / Wireless Networks

Seta-W-f ckorke- Lq"d I *,
*hL.* ,b-_-. ltonpulsory

(3 Hours)

Equestbns out of anv ram.i^i-_ a-ffi_r";;i*1". ", any remaining five questiond

,sensgr 
network architecture

n architecture
Yft,b"rGsnzt
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-rttcr, suDtoct Uode: 88987 / Elective - II Digital

Ctr) S€n^ E CYro'rce- Bq.s 'A
(3 Hours)

tl(p*r I bmpulsory.
It tH ry three from remaining Questions.
OmriSIe data wherever necessary.

{EPLresmarks.

fu steps involved in ethical hacking.

LDigital Forensics? Explain types of Digital Forensics?

the challenges in Web Application Forensics?

hlain how to use the routers as response tools?

Describe the incident response meqhodology in,dqtail 
,

Discuss in detail Ethics in Digital Forensics.

) What is digital evidence? Explain in detail types of'digitlevidences?

.,''.'
) Explain in detail colleqting'Vo.latile and Non-Votatile. Datain [-]nix-Based Systems.

r': I r.l_
i!. r"\ r..,t,' -:,: /' 

-

) Describe in detai.l'Investi$atihg Web Browsers.

B) Discuss in detail Fartitioning and DiSk Layouts.

rite'S-hort notes

) ehallenges for Evidcnce Handling.
.l Live. Data Acquiiition
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Itlll, ;.-.F-tE-.ll r\;1sEr. rr

C-hrice BqseJ Cbuo c-) osf on Irr

' (3 houns)

(l) Question no. I is compulsory.

!?] l|crp, any r[ree oul of,remaining four quesrions"(3)&rrts to the rig&t indicate fuU ria*s.

Total lt{arks:90

*birgrcff IT? Eaptain with green IT dimersions.ftil waineblo so,f,tr*are? ExpI{iE auibutes sf sofbpare, s$€tairrability"* f. 1. :*i:r: ensrsy ***r*i*#q;ffiffi *,r0,
!?b tife Cycte Asses***"tf Ulpfri" * Sg€s of,LCA..hr-' SITs rarue curve in srrsJG" #-;;:'-'
Ilfh fife cycle of a device orhardware in detail.kaefre key elernents of da& cenhe lT in&astructure?

ffin sustaiuable so*rry,are nrethodologies.
hf arethe yariousenergy saving softwarc techniques?
fhse the vmiorts:busimess &jvsrs for green II strategies?hLfu sustahable f oeamap'.

i Y*l- rhinking, pranning and imprementation f,cr green initiatives?in objectives of green aedworking.

rlrFour or.lt of,Slive questioas

nots CIa (*ry four)

b reducg cerbolt emission suffi$sred by H}SR
R's of Green IT

ility Hierarchy models
enviromueut for gr,een IT
and associ*t*d eoergy challenges
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rrlDeru subfcct Uode: UE9E2 I l)ata Mining and Business Intelligence

TEI semTl I eholce @rseJ / ar I re ^^U Lotl

(3 Hours)
(lrcstion no. I is compulsory.
Answer any three out of the remaining questions.

Assume data, if missing, with justification.

Apply K-means Algorithm to divide the given set of values'{.2,3;6,Q;"9',12,15,18,,22},ln$0 3 ., .tr09':

Explain Confusion Matrix. Calculate Accuracy, Precision and Reca.fl to1the fol'lowing I05l
Confusion Matrix

Cancer
Classes

Yes No Total

Yes 90 2r0 300

No r40 9s60 9700

Total 230 971V, ;I0000i

L
',.',

What are the major issues in data mining{

What is noisy data? How to handle it?

association rules. Tid ltems
r00 1,3,4

200 2,3,5

300 1,2,3,5

400 ,s
s00 1,2,3

600 3,5

700 1.,,2,3,5

800 1,5

900 1,3

Sup;fiobe wehavA fivo'objelts with na A, B, C, D and E. Apply

and &aw dendro.gram for $ls given data.

[0sl

[0sl

l10lConsider the transaction databass,grven in table below",A.ppfy Aprlori Algbrithm with

minimum support of 50% and:eonfi'dence of 507o. Fiad,.a['rfteqtient i"temsets"lrnd all the

[101

single linfuge clustering [101

What:is an outlier? Describe methods that are used for outlier analysis.
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B 1.5 1.5

C 5 5

D 3 4

E 4 4

F 3 3.5
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r- -- ' vEvJ'r.\'uue; o,yg', r Data Mining and Business rnterigence

(a) 
:;ffi j|;:xjil:i;'tr liffi :1ffi3, j:: fJ:il:i jH#ing N aive B aves A,g.ri

What is data mining? Explain KDD process with diagram.

Iffiil H':Tj: "vel 
and m,ltidinrensional association rules? Exptain with suitabre

ili:ffiH;*flf'anarvsis incrudes the anribure age. rhe age varues for data tupres are

i i' fr * f *: *'f* 1i;? ;# ij;' i,! i,f i ! ! ;3 
3'3 3, 3 s, 3 5,3 s,3 s,3 6,4 0,4 s,4 6,s 2,7 0

ii) what is mode ot iriut ;ffiffi'duru,, modality.iii)What is mid_range of data?
iv)Give the five_ point summary of the data.
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